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FOB - Lebensohl Night - Wednesday 26th May 2021 - ‘Slow Shows’ 

 

 A 8 4 

 10 7 4 

 10 9 6 5 4 

 10 5 

 K Q 9 7 5  J 6 2 

 3 2  A 8 

 A 7 3  K Q 8 2 

 K J 4  Q 8 3 2 

 10 3 

 K Q J 9 6 5 

 J 

 A 9 7 6 
HCP  Makeable contracts 

         NT 

 4   N - - 2 - - 

13  12  S - - 2 - - 

 11   E 3 3 - 4 - 

    W 3 3 - 4 - 
 

Board 2 : Dealer East : NS vulnerable 

West North East South 

  1NT 2 

3 Pass 4 All Pass 

West’s 3 is forcing showing points for game and a 5-card 

spade suit asking East to choose between 3NT and 4. 

 

Holding 3 card spade support, East should choose 4. 

 

  

 A Q 8 

 J 6 2 

 A 5 2 

 Q J 8 2 

 10 7 3  K J 9 6 5 4 

 4 3  A 8 

 K Q 6 4  J 10 9 

 A 7 5 3  10 6 

 2 

 K Q 10 9 7 5 

 8 7 3 

 K 9 4 
HCP  Makeable contracts 

         NT 

 14   N 2 - 3 - 1 

9  9  S 2 - 3 - - 

 8   E - 1 - 3 - 

    W - 1 - 3 - 
 

Board 1 : Dealer North : Love all 

West North East South 

 1NT 2 2NT 

Pass 3 Pass 3 

All Pass 

To show a weak hand that wants to play in 3 - South 

starts off with 2NT (Lebensohl), North must bid 3 and 

now 3 from South ends the auction. 

E/W might compete to 3 and as it happens 4x-1 is a 

nice result for N/S. 
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 8 3 

 K Q J 

 A 9 7 3 

 Q J 5 4 

 K 10 9 7 6 5  4 2 

 A 7  10 9 8 5 4 

 Q J 10  6 5 4 

 7 6  A 10 9 

 A Q J 

 6 3 2 

 K 8 2 

 K 8 3 2 
HCP  Makeable contracts 

         NT 

 13   N 2 3 1 - 3 

10  4  S 3 3 1 - 3 

 13   E - - - 1 - 

    W - - - 1 - 
 

Board 3 : Dealer South : EW vulnerable 

West North East South 

   1NT 

2 3NT All Pass 

Playing ‘Slow Shows’ Lebensohl, North’s 3NT shows a 

raise to 3NT without a spade stopper. With a spade 

stopper he would bid 2NT first and then 3NT. 

South has the spade stopper so he passes 3NT. 

If South did not have a spade stopper then he would know 

to avoid 3NT and he would bid his lowest 4-card suit. 

 

 A K Q 10 6 4 

 10 8 

 K 10 6 

 10 9 

 8 5 2  J 3 

 A J 6 2  K Q 3 

 Q J  A 9 7 3 

 A Q 3 2  K J 5 4 

 9 7 

 9 7 5 4 

 8 5 4 2 

 8 7 6 
HCP  Makeable contracts 

         NT 

 12   N - - - - - 

14  14  S - - - - - 

 0   E 5 2 4 - 1 

    W 5 2 4 - 1 
 

Board 4 : Dealer West : All vulnerable 

West North East South 

1NT 2 3NT Pass 

4 Pass 5 All Pass 

Playing ‘Slow Shows’ Lebensohl, East’s 3NT shows a 

raise to 3NT without a spade stopper. With a spade 

stopper he would bid 2NT first and then 3NT. 

West does not have a spade stopper so he knows to avoid 

3NT and he would bid his lowest 4-card suit i.e. 4. 

East can pass that or raise to 5 - anything is better than 

playing in a doomed 3NT. 

 

  



Fearghal O’Boyle – Lebensohl Night – 26th May 2021 – Slow Shows 

 

 A 8 3 

 A J 9 2 

 Q J 

 Q 8 3 2 

 9 6  K Q J 10 7 2 

 10 7 4  6 5 

 K 10 6 4 2  8 5 3 

 10 9 6  A 7 

 5 4 

 K Q 8 3 

 A 9 7 

 K J 5 4 
HCP  Makeable contracts 

         NT 

 14   N 4 - 4 - 1 

3  10  S 4 - 4 - 1 

 13   E - - - 1 - 

    W - - - 1 - 
 

Board 5 : Dealer North : NS vulnerable 

West North East South 

 1NT 2 3 

Pass 4 All Pass 

 

South’s 3 is ‘Stayman’ showing 4 hearts without a spade 

stopper. 

 

North had an easy 4 bid. 

 

 J 10 7 6 

 9 6 

 K 8 7 6 2 

 9 8 

 K Q 8 3  A 9 2 

 A 4 2  8 3 

 A 3  Q J 10 4 

 J 10 5 4  A K 6 3 

 5 4 

 K Q J 10 7 5 

 9 5 

 Q 7 2 
HCP  Makeable contracts 

         NT 

 4   N - - 1 - - 

14  14  S - - 1 - - 

 8   E 4 3 - 4 4 

    W 4 3 - 4 4 
 

Board 6 : Dealer East : EW vulnerable 

West North East South 

  1NT 2 

2NT Pass 3 Pass 

3 Pass          3NT All Pass 

West’s sequence of 2NT first and then 3 is ‘Stayman’ 

showing 4 spades with a Heart stopper. 

East has an easy 3NT bid. 
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 K Q 8 3 

 9 4 2 

 A 3 

 K J 5 4 

 J 7  10 6 5 4 

 K Q J 10 7 5  A 6 

 K 6  9 8 7 5 4 

 10 7 6  9 3 

 A 9 2 

 8 3 

 Q J 10 2 

 A Q 8 2 
HCP  Makeable contracts 

         NT 

 13   N 5 3 1 4 1 

10  4  S 5 3 1 4 1 

 13   E - - - - - 

    W - - - - - 
 

Board 7 : Dealer South : All vulnerable 

West North East South 

   1NT 

2 3 Pass 4 

All Pass 

 

North’s 3 is ‘Stayman’ showing 4 spades without a heart 

stopper. 

South knows that 3NT is doomed so he bids 4 or better 

still 4 deciding to play in the 4-3 spade fit when he has 

the doubleton heart. 

 

 A K Q 10 7 6 

 9 7 2 

 J 10 

 J 4 

 8 5 4  3 2 

 A J 6  K Q 3 

 Q 6 2  A K 9 8 7 3 

 A Q 5 2  K 3 

 J 9 

 10 8 5 4 

 5 4 

 10 9 8 7 6 
HCP  Makeable contracts 

         NT 

 11   N - - - - - 

13  15  S - - - - - 

 1   E 2 5 3 1 1 

    W 2 5 3 1 1 
 

Board 8 : Dealer West : Love all 

West North East South 

1NT 2 3NT Pass 

4 Pass 4 All Pass 

 

Playing ‘Slow Shows’ Lebensohl, East’s 3NT shows a 

raise to 3NT without a spade stopper. With a spade 

stopper he would bid 2NT first and then 3NT. 

West does not have a spade stopper so he knows to avoid 

3NT and he would bid his lowest 4-card suit i.e. 4. 

East can bid 4 or 5 - either is better than playing in a 

doomed 3NT. 
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 K 8 3 

 A 5 4 

 A 9 6 

 Q J 5 4 

 A 9 5 4 2  J 10 

 9 6  K Q J 10 8 2 

 5 2  10 4 

 A 10 9 6  K 8 2 

 Q 7 6 

 7 3 

 K Q J 8 7 3 

 7 3 
HCP  Makeable contracts 

         NT 

 14   N - 2 - - 1 

8  10  S - 3 - - 1 

 8   E 1 - 2 1 - 

    W 1 - 3 1 - 
 

Board 9 : Dealer North : EW vulnerable 

West North East South 

 1NT 2 2NT 

Pass 3 Pass 3 

All Pass 

South is showing a weak hand that wants to play in 3.  If 

South wanted to show a good hand with diamonds he 

would bid an immediate 3. 

 

 

 

 5 

 J 9 8 4 2 

 A 9 8 2 

 Q 10 5 

 4 3  A Q 9 8 

 K Q 3  A 6 

 Q J 5 3  K 7 6 

 K 8 7 4  J 9 3 2 

 K J 10 7 6 2 

 10 7 5 

 10 4 

 A 6 
HCP  Makeable contracts 

         NT 

 7   N - - - - - 

11  14  S - - - - - 

 8   E 3 2 1 1 2 

    W 3 2 1 1 2 
 

Board 10 : Dealer East : All vulnerable 

West North East South 

  1NT 2 

Dbl All Pass 

 

West’s double shows a normal 2NT bid i.e. an invite to 

3NT.  On this hand East will be only too delighted to pass 

the double and leave South to flounder in 2x-2. 
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 9 4 

 K Q 3 

 Q J 5 3 

 K Q 7 4 

 K J 10 7 6 5  2 

 J 9  10 8 7 5 4 2 

 A 10 9  8 4 2 

 10 8  A 6 5 

 A Q 8 3 

 A 6 

 K 7 6 

 J 9 3 2 
HCP  Makeable contracts 

         NT 

 13   N 4 3 1 1 4 

9  4  S 4 3 1 2 4 

 14   E - - - - - 

    W - - - - - 
 

Board 11 : Dealer South : Love all 

West North East South 

   1NT 

2 3NT All Pass 

Playing ‘Slow Shows’ Lebensohl, North’s 3NT shows a 

raise to 3NT without a spade stopper. With a spade 

stopper he would bid 2NT first and then 3NT. 

South has the spade stopper so he passes 3NT. 

If South did not have a spade stopper then he would know 

to avoid 3NT and he would bid his lowest 4-card suit. 

 

 4 2 

 A J 10 9 7 6 

 A 10 8 2 

 6 

 A K J 6  9 3 

 8 3  K Q 4 

 K 7 6  Q J 5 3 

 J 9 3 2  K Q 7 4 

 Q 10 8 7 5 

 5 2 

 9 4 

 A 10 8 5 
HCP  Makeable contracts 

         NT 

 9   N - - - - - 

12  13  S - - - - - 

 6   E 3 3 - 1 4 

    W 3 3 - 1 4 
 

Board 12 : Dealer West : NS vulnerable 

West North East South 

1NT 2 2NT Pass 

3 Pass 3NT All Pass 

Playing ‘Slow Shows’ Lebensohl, East’s sequence of 2NT 

followed by 3NT shows a raise to 3NT with a heart stopper. 

Without a heart stopper he would bid 3NT on the first 

round. 

West has an easy pass of 3NT. 

 

 


